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Exercise 48 (Inequality Constraints IIT)

Solve the following problem:

max0.5c —y st. 0<y—ax—e*—2% >0

Exercise 49 (Inequality Constraints IV)

Solve the following problem:
max3In(z+ 1) — (z 4+ 2z + y)

subject to
P <rty, 2,9,2>0

Exercise 50 (Inequality Constraints V)

Consider the problem
maxIn(l+z) +y

subject to
qgr+y <L, z,y=>0

Solve the problem for g € (0,1], L > 1.

Exercise 51 (Inequality Constraints VI)
Consider the following problem:
max :13% + m% + :133

subject to
2r7 + x5 + a3 < r?

l’1+$2+$3:0

Solve the maximization problem and verify the envelope result for mixed constraints.



